1. Complete the sentences according to the dialogue above.

=) 1 [o T = 1 4 =T - at Harrods.
b) Gloria and Jane are at Harrods 10 ...
€) LUCY SUBEESES GlOTIA ..o
d) Gloria doesn’t want to buy anew dress because ...

e) Lucythinks ... isagoodcolourforherasshe thinks it goes well with her eyes.

2. Write True (T), False (F) or Doesn’t Mention (DM) for each sentence.

a) Gloria, Jane and Lucy are close friends. ..
b) Jane wants to buy a pair of high heel shoestoo. .
c) Gloria thinks everything is very expensive in the store. .
d) Lucyis in the store to buy a New Year present for her boyfriend. ...

e) Everyone is happy to go with black. .



